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it contains 20 questzﬂns ‘ ' B AT - - R
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The Code No. on the top of the question paper should be wn,tt_en. by, the candidate
on the front page of the answer-book.
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Before begmmng to answer a questwn, its Sena! Number must be written., ... .-~
Don’t leave b!ank page/ pages in your answer—bnak R L T PR

. W%Wﬁ#mfﬁaaﬁﬁﬁvﬁfmmwms?%&ﬁ?wm?

Fe)
Except answer—boak no extra sheet will be given. Wnte to the pmnt and do not
strike the written answer.sy =iy et e onsl sam ol 855800 aaniiesat)
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Candidates must write their Roll No. on the question paper Except Rnll No. do not.
write anything on question paper and don't make any mark on answers of objective’

type quESﬁﬂnS vz ] LR (LR 05 e Ry ._1-_; g ';_‘_-_; 1_3.1..'. ;
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o Ww#%aﬁ?ﬁ#gﬁ%gﬁf\aﬁwéﬁfﬁﬁﬁﬁaaﬁ% ghEr & IUIT 3T
T T g o) qrar &@He 7@ A s

Before answering the questions, ensure that you have been supphed the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

AH [733T -
(i) & T T &
(i) §F F9F-97 4 T 20 F97 &
(i) 97 & 1 7 1-1 57 3 9= (ixv) Fghe w7 arae &
(v) FR7 G& 2 79 T%F -7y TTNT o7 & THr qoE 5497 2 o7 B
(v) T TS 10 7 17 7% 7y Fu0q 7 & oo Hew geT 3 i &
(vi) 97 GEr 18 @ 20 ﬁa;a?a‘aﬁ??zrwa'é’*wmﬂwse;#w%

(vi) FT-9F 7 7 @Y @ #g Ry 76 & a5 a;#aza"m#a?a?w##efmma
WWWW?/@#E?###W%?M&%??WFW?? -

(um)%‘ﬁw'ﬁam%?w:@?%

General Instmctwns

(i) All questions are compulsory.
(ii) There are 20 questions in all.

(111) Questmn Nos. 1 1s DbjECfIUE‘ type questions. It cnnszsts ﬂf f' fteen (i-xv)
quesnﬂns of 1 mark each - .. | _

" (iv) Quesnﬂn Nﬂs 2t9 are very short anawer type quesﬁﬂns and c:arry 2 marks

each. bl | . _
(v) Question Nos. 10 to 17 are shmrt answer type questmns and cany 3 marks
_each _ : | .
(vi) Question Nos. 18 to 20 are long answer type questmns and carry 5 marks
each S LTI

(vii) There 1S no overall chmce Howeuer internal choice is gwen in all three long
answer type questions-, and carry S marks each. You haue to attempt only

.one c}f the given choice in such questions.

_(viii) Use of .Calculatar is not pemztted.
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(T 71%)
(Objective Type Questions)

L () O WY iy d e o 9 o JERia ST © 1
A) T B T |
(C) & (D) &
Slope of displacement-time graph in straight line motion represent :
(A) time (B) distance
(Q) velﬂmty (D) acceleration

() 50 % q 60 e chéraﬁ%b@i%l—-gut T gﬁ{mﬁqﬂﬁﬁwﬁw F @ &l

3% UIROH o & A B : 1
(A) 10 e - (B) 11~o§;@'=_r_' |
(©) 3000 F&T - D) =

50 N and 60 N fmrces are actmg in_opposite d‘lremn\ﬂns at a pmﬁ;t Their
resultant force is : "

(A) 10 Newton (B) 110 Newton
(C) 3000 Newton (D) Zero &

(i) WWW@2OW%Q@E€T@$W%W98%%QE${W3W-
Ol Bl g OB (g = 9.8 Hlo/Ho) .

B et ® 5
(o T - i ' D) ™
... A force of 98 N is just able to move a block of mass’'20 kg on a/1 ruugh
" horizontal surface. Coefficient ﬂf Frlctmn is (g 9. 8 secz}
N . T B i
L (= 1 - T B (1:;) ZEI‘D | _,,,
i) ﬁmmmwmmmmamwmam 1
(A) (B) el
. (C). I o | (D) ='hg:ﬁ _
When the momentum .of body is increased by two Umes 1ts Kinetic
Energy becomes : | <o Sl -
(A) Twice. | W Half
(C) Four times , (D) -Nine times

© 2328 AR P. U0




(4) 2328

(v) ZHM M T B9 R & 909 & $% § PRA g qdl o $ q9dd o1y & URa:
g YU B 1
(A) MR? (B) MR?
(C) %MRE (D) EMRQ

M is mass and R is radius of circular ring. ’I‘he moment of Inertia about
an axis and perpendicular to plane i1s :

(A) MR? (B) %MRQ
(C) %MRQ o o gk AR D) %MRQ
(vi) ?Tﬁﬁf’)aﬁ"g‘tr(-c)awzaﬂﬂaamm F ey ¥ o 4 1
o ®) P=% (B) .P=1a '
J(C) P=% (D) f.= Pip ¢+
Relation'between Power(P), Torque (1) and Angular velocity (a'_i}; s :
LI i & 3 O e
© P.—% et ; D) ¢
(vii) ﬁé{fqﬁ%aﬁeﬂwgﬁqmﬂﬁgﬁﬁ% ﬁrwﬁ‘rﬂrwmﬁwwm
Cu)| 1

If the earth revnlves around the Sun in mrcular orblt then what would. be
' the work done by the gravitational force ? :

(vii) TR ¥ SR-AIEl R/l I BIdl g ? | e g -
| Why are high tides and low tides in the sea ? |
(ix) Wmﬁﬁwwﬁmﬁmwﬁaﬁﬁﬁwﬁwﬁaw%? e

Which thermodynamical variable is defined by the zemth law of
thermodynamics ? -

(x) %Wﬁw%aﬁwaﬁaﬂ%aﬁqﬁﬂwmwﬁmaﬁ E’ﬁtm%
aTaae B A [T BN 1

What will be the value of the time period of a mmple pendulum if the
amplitude is reduced to half of its original value ? ..©* |
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(xi) T RS (R) & SI qee a1r 7 1
What is SI Unit of Gas Constant (R) ?

(xil) T T TR et o ey e we Rt A 7 1
How much will be the Kinetic Energy of a géxs ai the absolute zero ?

[}diiWR%ﬂ{Hﬂ%%%%ﬂﬁWEﬁWﬁWTW%%? 1
;;1;5:} 1s the number of degree of freedom of a molecule of a monoatomic

(xiv) 19 & AP R g @ SERTIRER] 1
Write the relation for pressure by ki_neti'c theory of gases.

(xv) AN TR B GA 9 I AR TY I g SREr H AT e 7 !

What will be the ratio of fundamental frequenciesof:an open and closed
organ pipe of same length ?

(stfr-rg Sl 1;la=r)
(Very Shurt Answer Type Questmns]

g F=a+ bx, EIBT-E‘:EIH_?{ xq0 8 Hadb Eﬁrférrrrq SIHCH S 2

In a relation F = a + bx where F is the force, x is thé distance. Calculate

L] "'_
] I = 3
K ] 1g_w..-
¥ ]

dimensions of {1 and b. I T3 : :‘:_:if"_' r o JCFI S

@Eﬁfﬁ4tﬁﬁgﬁ‘ﬁaﬁm5tﬂawaﬁﬁnw%ﬁmw%gﬂ ErﬁaﬂTW

-Srﬂﬂé’rmaﬂ%a aﬁama&ﬁﬂégﬂﬁmmﬁwmmaﬁﬁm

A man walks 4 m East, then 5 m North, then taking a nght tum walks 8 m
stralght Calculate the dlstance travelled by the man and 1ts d1splacement

—_— e P B | --.-—.-.'Hr-ll; g e e l'-.:.'l x o .‘_n'_.i-.. b ¢ eyt Bt — i, RO
o r a T H A Lk T T : R e e =t T Ad ¥ &
i'[q |%ﬁl1 T 5 B &AL 4 ¥ B SEHE B SR 5 T A B e % ar 2
: L F s i e | i 1T | Il i r | [ & F
. 5 ; : 3 ' " §
e 4 . i :

Write parallelogram law of vectﬁrr additinn.'

e ) Ry 3 o P AL o s 0 e F e BTd o 2
i e SR BRI S
Explain the Newton's Second Law of motmn PEATE AN
Fa-Fert TR fARagl 2
- Parigd _ TE Do ARG T INAIEYTI SR
Write thg'ivork-ehﬁrlgjf’: theorcrjr}. Fisaadatnl ot T pl O 9 G 9 o AT bR AL
| . B T@




7.

10.

"meaeurement of a, b and ¢ dre 1%, 2%
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1mgmwsmiewmmmee%ewneeMWMme%ﬁ
mﬁm%eﬂelﬂ%ﬁ[cmﬁﬁ&ﬁm%ﬂ 2

A

0, 0) > X

Locate the eentre of maee[C) ef a eyetem ef Lhree pe.ruelee of masses 1 gram,
2 gram and 3 gram plaeed at the eernere ef a equﬂateral tr1angle of 1- metre side :

AN

Energy !

ﬁF:l"-T W .8 W TR w O FepEE O hm
ql%ﬂ °h| ! . ".- !ih:f-: i":ii'";"f ‘I’;*:'f“.':?j A 1rf s tar porety Rl e
Write Pasealslaw_. | _ I S

. | : & & =i "l R e TR RS A 1(Hg )

(Shert Answer Type Queetmne) i el el

Q%ﬁﬁenﬁrxeﬁemﬁeﬁ b@c%ﬁemeveﬁae%
AR e L

.-C
a, bqerce%’rqrcﬁfrwar 1ﬂ/u,2%w3%q?fa’fw%iﬂf§rX%‘TﬁﬁWﬁew

g e s Hiforqy i
3b2 1h ol

If a physical quantity s X=— & and the _ percentage . errors - 13:1 the

o .'Ill'-.

.

QIEI

and. ' 3% reepeetwely FlI'Ld the

maximum percentage error in the measurement of phyeleal quantity X
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11. uF 90 JOHR T W GF aE B M @ o m gk, Bl 7@ a%ff?lw ey E% e
HEFF A TG iy 3

Explam the motion of a vehicle on a level circular path and give the formula for
maximum velocity.

12. T9RT [ 9 ®9 & FRar gon Rve afsre oot @ G 3 FRw @ gRe S 2 3

Show thgt mechanical energy ‘of a freely falling body justifies the law of
conservation of Mechanical Energy

13. WWWWWWl@WWWWWwMM | 3

State the law of cmnservatmn of Angular Mmmentum Explam it by giving any
one cxample.

14. weht & RS & qar 37 @ @ o AT ' 3

Obtain the formula for the escape velmmty Gf a body from the earth.

15. Hﬁﬁﬁ?ﬁwﬁmﬁw@mwﬁfgw| 3.

With help of streas—stram curve explain limit of elasticity, yield point.

16. Hﬁ?ﬁﬁfﬁw%?w X mlmm%ﬁ’lﬁaﬁnﬁmw 025 kg Bl ?ﬁﬁ%ﬁ'ﬁﬂ%mﬂ?ﬂ
W1W%wmamﬁmﬁ2%m%|gwhﬂw§ﬂwaﬁaﬁl b

What is s1mple pendulum ? The bob of a simple! pendulum has a mass of
.025 kg. The effective length of the string is 1 metre and time permd 2 second.

Calculate the value of acceleratmn due to gravlty (g).

17. & g S H ST asﬂqifr 3 fimrr i‘é‘ff@m SREARCS (- R | 3
Write laws r:::f 65 ransverse Vlbratmns -::uf a Stretched Strmg A ¥
(et Gﬁ'ﬂtr %)

(Lung Answer Type Questions)

18. @mgﬁr%gﬁaéﬂﬁ%ﬁ%e@wwu%%%ww%nmﬂafﬂm
G T &S IE S i hE | 5

‘A projectile is‘thrown at an angle ) frnm the horizontal with velocity u under
the gravitational field of Earth. Find its. maximum height attained and the

" horizontal range.
|
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HY4T
OR

THT @RI T P aRayr ¥ Q%mU}WWEﬁWWﬁW%iW
TSE O w ¥ ¢ W g o 3T o 3 R @ SwE e RERy
S=ut+%at2€rm|

Define uniformly accelerated motion. A particle is moving with uniform
acceleration a in a straight path. Its initial velocity is u and final velocity v

after time t.. Using calculus method show that S = ut +%atg.

19, ST & ge Few # e d ¥R D g Cp - Cy = R & R R 5
£stablish Mayer's Formula Cp —Cy =R from the first law of thermodynamics.
HYqT
OR

HANE WhH | R ﬂ?rfﬁlﬁﬁr “érq’m'&ir HY FH qﬂ sucl---,cﬁr..

Explain the work done in an isothermal process and find formula fni_:* work.

s g

"State and prove Bernoulli's thé_ﬂrem_.

1 K qua_r |
OR

What do you mean bjr"visr':m'si‘ty ? Obtain an expression for terminal velocity of
a ball falling in a viscous liquid.
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